Mathalete 10

	1) Eigths in 15½  =
	36) 1000 – 308 – 45  =
	71) 4.15 x 8 =

	2) Is 6 a factor of 720 =
	37) ¾ of an hour later than 3.47am =
	72) Product of 12 and 13 =

	3) 25% of 400 kg  =
	38) 80 x 0.7 =
	73) 62% of 850 =

	4) 7/8 of 560 =
	39) 402 + ____ + 187 = 1207
	74) 13 672m =              km

	5) 337 + ___ + 218 = 1000
	40) Twelfths in 8¼ =
	75) 70 x 40 =

	6) 60 x 0.8 =
	41) Degrees in 2 ¾ turns =
	76) 0.9 x 0.7 =

	7) 22% of 300 =
	42) Is 7 a factor of 56 =
	77) 1000 – (342 +104) =

	8) 80 ( 100 =
	43) Years in a century = 
	78) ¼ of a number is 47. The number is ____________

	9) 840 + 880 + 860 =
	44) Minutes between 8.50am and 10.35am =
	79) 42% of 200 =

	10) 3/9 of (54 ( 3) =
	45) 620 + 418 + 360 + 590=
	80) 0.25 x 0.6 =

	11) 2.75 as a fraction =
	46) 9.82kg =                g
	81) ¾ of 68 =

	12) Half of 24 856 =
	47) Days in 2 leap years =
	82) Degrees in ½ a right angle =

	13) Square root of 49 =
	48) One side of a square is 36cm. The perimeter is _______ cm
	83) 20% of 340 m =

	14) 8956 + 5.32 =
	49) 5000ml – 1236ml =           litres
	84) 2 hours 25 minutes before midnight = 

	15) 2.3 x 30 =
	50) Product of 3, 4 and 5 =
	85) A side of a regular heptagon is 21mm.The perimeter is _____cm

	16) 42 ( 100 =
	51) 8 x £3.40 =
	86) Round 6.057 to the nearest 

tenth =

	17) 400 – 45 =
	52) 28% of 350 =
	87)  Write 6.18pm as a digital time using the 24 hour clock =

	18) 17 squared =
	53) £4.32 + 87p + 364p = £
	88) 92% as a fraction =

	19) 6/7 of 4200 =
	54) 62 x 0.3 =
	89) Degrees in a triangle =

	20) 720 ( ___ = 8
	55) £70 – (£14 + £23) = £
	90) 34% of £2.50 =

	21) Product of 18 and 9 =
	56) Fifths in 46 =
	91) 2/3 of a number is 24. The number is _______

	22) 984 ( 1000 =
	57) 3.45 + 5.6 + 7.3 =
	92) Is 9 a factor of 432 =

	23) 5/8 of (72 ( 3) =
	58) Hours in a fortnight =
	93) 6% of £5 = 

	24) 0.506 x ____ = 506
	59) 15.2 – 6.9 – 2.1 =
	94) Days in a decade =

	25) Decrease 54.6 by 8.9 =
	60) 3/5 as a decimal =
	95) 7/8 of (12x4) = 

	26) Round 1072.83 to the nearest whole number = 
	61) Write 43mm in metres =
	96) £345 762 ( 100 =

	27) Centimetres in 37.6m =
	62) Months in 5 years =
	97) 900 x 40 =

	28) Half of 453 = 
	63) Decrease 72.3 by 15.12 =
	98) Decrease 19.3 by 8.04 =

	29) 5.9 + 2.7 + 3.6 =
	64) 80 x 32 =
	99) 42/1000 as a decimal =

	30)  3:4 = ___: 12
	65) 23/100 as a decimal = 
	100) 1.32kg + 4023g – 0.67kg =           kg

	31) Increase 34.05 by 17.2 =
	66) 347.5 – 81¾ = 
	

	32) 84.6 – 5.2 =
	67) How many 7’s in 567 =
	

	33) Days in May and June =


	68) 85 minutes later than 4.15pm =
	

	34) 0.8 + 1.3 + 5.24 + 1.05 =
	69) Half of 34.45 =
	

	35) Days in February in a leap year = 
	70) Simplify 72/100 =
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